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Test 3

This test is graded out of 44 marks. No books, notes, graphing calculators or cell phones are allowed. You must show
all your work, the correct answer is worth 1 mark the remaining marks are given for the work.

Question 1. What angle 8 (0° < 6 < 360°) is co-terminal to
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Question 2. Consider an angle 6 in standard position, find the quadrant in which its terminal edge lies, if
a. (2 marks)sec < 0and cotf >0
b. (2 marks) sin@ < 0 and cos@ >0

A~ Cinge Sec 15 b atve 0L cav
OQ 5 A only b2 /Mfl»é7555‘7’/’ and

- vt put cot
thivd UZIO\//-L f;hﬁve{ayé .

aclran

25 s s
: U z</0 u: the thivd ?U

T C

' 4
ad mﬂf Lot cosine |
iy t)qe L%W(j aﬂa/ {OU’/ZLLE 7V{0z/ﬂfh ?00& VJ&//}f
]opgafu/ﬁ thevetore 11 A




Question 3. (4 marks) Find the values of the 5 other trigonometric functions, if sin8 = —-% and sec 8 > 0.
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Question 4. (4 marks) A forest scientist called Bruno measures the angle of elevation from the ground to the top of a
tree and finds the angle to be 75°. If Bruno is 22m from the tree, how tall is the tree?
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Question 5. (4 marks) Draw the two “special triangles” which help identify the special angles. Label the angles of the
triangle and the length of each side.
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Question 6. Find the exact values of
a. (2 marks) sec150°

b. (2 marks) tan300° b} 7 \\?
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Question 7. Find the exact values of
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a. (2 marks) csc & A

b. (2 marks) cos %
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Question 8. (4 marks) Sketch the graph of the function f(x) = 2sin({7zx) over the interval [0,4].
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Question 9. (4 marks) Verify the following identity:

7
tan 6 + cot® =secOcsc O
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Question 10. (4 marks) Solve for 6:
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Question 11. (4 marks) Find the value of:
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Bonus. (2 marks)
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Sketch the graph of tan 6 over the interval [—7, 7].
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